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3. 0°<x<90° €U, & T &> A7
@ 0<cosx<1 @ 0<sinx<1 @ 0<tanx<1

@ -1<tanx<0 B -1<sinx<1



sin 30°
cos30°

@D V2

X tan 60 ° +

sin 90 °

sin 30 ° X cos 60 °

@ 3 3 2

o zre?
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@D 39°

o] TE Hlsinx = 0.6691 & o, x o] 727
2t | AFQl(sin) | EAFRl(cos) | EtMIE(tan)
39° 0.6293 0.7771 0.8098
40 0.6428 0.7660 0.8391
471° 0.6561 0.7547 0.8693
4 0.6691 0.7431 0.9004
® 40° B 41° @ 492° B) 45°
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® 2V7cm



@ cos30°

3 tan45°

® cos45°



8. & 1A AC =16cm, /B =30°Y
o, ¢ O 9] 2| 59] do|=?

® 8cm @ 10cm @ 16cm

@ 25ecm ® 32cm
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@D 16 ® 31 ® 46 @ 61 B 91



Q1 o] Lkt 9k ), 1 Ae]7k BC ot

@ tanx ® tany

® cosy

@ cosx

@ sinx



12. 0°<x<45° & o, /(1 -tanx)? 9] F2?

@D 1-tanx @ tanx+1 @ tanx -1
@ 1 3 0



13. oAFEA ¥ -3 =02 W=k x 9 gl tanA 9] gyt 22 o),
sinAcosA 9 27 (F,0°<A<90°)
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e sin cos tan
44 0.6947 0.7193 0.9657
45 0,7071 0,7071 1,0000
46 0,7193 0,6947 1.,0355
@® 1.022 @ 6.947 ® 7.071

@ 9.567 3 10.355



15. ThS % tan A — %01 o), sin A — cos A ] ZE(F, 0° < A < 90°)



16. o I1¥HoA LABC = 90°, .CAB =60° 0], AC=CD =2
], tan 15° 9] ZF&9
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D V2 @ 14+ V2 ® 1+ V3

@ 2+ 13 ® 2-+3



17, The AHZPI0] 3he 2he Z1E el s

1=

=7
@ sindb5° ® cos0° © cos35°

@ sin75° ® tanb0° ® tan65°
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® @-0-0-©-0-® @ @-0-0-©-©-0©
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18. tan(x+15°) =1 € W, sinx + cosx 2] F27 (T, 0° < x < 90° )
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19. g £ olgstel
(tan44° + cos 46 ° — 2sin 45 °) x 10000 2] g o=t

Zte sin cos tan

44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0,7193 0.6947 1,0355

D 246 ® 967 3 1760 @ 92462 ® 3240



7P O] HE B ThEE UESHE x4y + 2 9] G

ZI e sin cos tan
10° 0,1736 0,9848 0,1763
20° 0.3420 | 0,9397 0.3640
35° 0.5736 0.8192 0.7002
45° 0,7071 0,7071 1,0000
50° 0,7660 0.6428 1,1918
70° 0.9397 0.3420 2.7475
89° 0.9998 0.0175 57.2900

sinx = 0.9397

tany = 0.7002

cosz = 0.9848

@D 3 @ 5 3 6 @ 10 B 12
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23.

AAZF o] Al WZHe] 2719 Hl7F1: 2 3 olx, Al 4+ F 7P Ae
Zrol A71E /At & 0, sinA : cos A : tan A =7

D 3v3:3:2V3 @ 3:2vV3:33
@ 3:3v3:23 ® 3:43:243

® 2v3:3:33



0.77

0.70
0.57

o] doj7h 1 o Ao o F EF

@ sin(x+y) =0.77
® cosy = 0.82

® tany = 0.70

0.40 0.82 1 E

@ siny = 0.82

@ cos(x+y) = 0.40



25. y = —2cos?x +4cosx + 5 7F HAGE 7 o, x o] FH22(H,
0°<x<90°)

@D 0° @ 30° B 45° @ 60° ® 90°



